Self-assessment 
Subunit 1.2: Current trends: process technologies 
1. Mark correct answer. 
Industry 4.0 means digitalization od industrial processes. 
a) True b) FalsE 
2. Mark correct answer. IOT means: 
a) Inteligent output transmission b) Incompany output transfer c) Internet of things d) Interrupt of telenovela 
3. Connect correct answers. 
Automation Personalized and adaptive 
Flexible automation Machine which works with 
human Advanced manufacturing No ability to change 
product or process Colaborative robot Digital integration of 
business processes Smart product Quick conversion between 
products 
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Correct answers 
4. Mark correct answer. 
Industry 4.0 means digitalization od industrial processes. 
c) True d) FalsE 
5. Mark correct answer. IOT means: 
e) Inteligent output transmission f) Incompany output transfer g) Internet of things h) Interrupt of telenovela 
6. Connect correct answers. 
Automation Personalized and adaptive 
Flexible automation Machine which works with 
human Advanced manufacturing No ability to change 
product or process Colaborative robot Digital integration of 
business processes Smart product Quick conversion between 
products 
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